
  و ا�����ر ا����� و ا��
�وط ا�
ورا�� ا���م

  

�� ا�����  ��SABCD ا���� أ����  :1ا������
��� � ��  ABCDه�م 
 #$%AB = 4cm  �����  .SA = 5cm، و ار

  
 .SABCD%-� ا�,�م  Vأ%+*  )1

 .SABD%-� ا�,�م  'Vأ%+*  )2

 .SBCD%-� ا�,�م  ''Vا�/0/.  )3

  
�$,�  :2ا������
����4 �3آ2ي  ��  ،Bو  ��A ا���� أ���� أ��5ا�4 

 #$%AB = 4 m  �,��67 و وr = 3 m.  

  

ة ه:9 ا�5�8ا�SB 4أ%+*  )1��� 4%�+3. 

 .%-� ا��5ا�V 4أ%+*  )2

 ,�<��5ا�4 ا�=� �SL 4أ%+* ا��+�%4 ا�-��>4$  )3

دورا��، آ�� ه� �A/+� D$<3ج D3 دا�B ا�5�8ا��A3 4و@�  )4
��  ��A ا����، رأ�� 
�����G 67�ع  rو 67���  Bو �3آ2 
4� :ا�5�8ا�4 ا�=� 

a(  *+%أx ��ورا
3
 ا���Aوط ا���. 

b( *+%>$4  أ��4 ا�-I+���Aوط ا�
ورا�� S'Lا���. 

c(  �-Iأ%+* ا�V' ��ورا
��Aوط ا���. 

d(  4$4 ا���%�+���Aوط ا�
ورا�� STأ%+* ا���. 
  

��ABCDEFGH  9 :3ا������
��� ،� �� 3ABCD/�ازي K$5/+3ت 
  .AE = x cmو  AD = 2 cmو  EFGH #$% ،AB = 3 cmو 
1( �+-�
د رؤوس و أ%�ف و ا8و�� ا�-��>$4 �,:ا ا�%. 

2( P0Q3 P0Q3 4���=/�
د ا8%�ف ا��/=�R+4 و ا8و�� ا�% . 


د ا�6
د  )3%x  �-% أن S�cm 8ه� AEFGHإذا ��
3.  

  )Xا���� .(6�3a* @�ل %���  ABCDEFGH :4ا������

  
�=5$� ا�,�م  
6�BEFG �+-3 P�� �WI� ا� �� ��  :��Y �آ

  

ABCDEFGH  4�X%-� ا���V  *6أ%+*  )1�a. 


BEFG  4�X%-� ا�,�م  'Vأ%+*  )2�a. 

�%-� ا� ''Vا�/0/.  )3 �+-Y  4�X
�a D3 �-Iأ%+* ه:ا ا� �Y ،
 .a = 15 cmأ�� 

  
آ�� ه� D$<3 �� ا����  6�3I* �3آABCDEFGH  92 :5ا������

  . AB = x: أ����، ���� أن

  
 D$/��/A3 D$/=R�5� *+%أV  ا�,�م �-%IABCD  4�X
�x.  

  

X 

Y 
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